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10.

Instructions for the Candidates
Write your roll number in the space provided on the top of this page.
This paper consists of seventy five multiple-choice type of questions.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

ONON NC)

where (C) is the correct response.

Your responses to the question of Paper Il are to be indicated
in the OMR Sheet kept inside the Booklet. If you mark at any
place other than in the ovals inOMR Answer Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.

You can take away question booklet and carbon copy of
OMR Answer Sheet soon after the examination.

(ii)
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: . 209/55) ToFmsoiols® J5* SRgt comtdaiad. . 11. Use only Blue/Black Ball point pen.
12, sgoqdetstt wgm wan® L TR0 WRBRRE RFRIRNT. |12, Use of any calculator or log table etc., is prohibited.
o 13. 30 80T wvZTRYR 969 BoT ANIRY . 13. There is no negative marks for incorrect answers.
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Note : This paper contains seventy-five (75) objective type questions. Each question
carries two (2) marks. All questions are compulsory.

1. Administration would differ from one field 5. Which one of the following pairs in

K-2314

to another according to the subject
matter. This statement explains the

(A) Managerial view of administration
(B) Wider view of administration

(C) Integral view of administration

(D) Narrower view of administration

. “Public Administration is the heart of
the problem of modern government,” is
said by

(A) W. B. Donham
(B) Charles A. Beard
(C) L.D. White

(D) P. H. Appleby

. Who of the following has called
hierarchy as the scalar process ?

(A) Mooney

(B) Reiley

(C) Mooney and Reiley
(D) L.D. White

. Who of the following administrative

thinkers have defined administration
as “The organisations and direction

of human and material resources to

achieve desired ends ?”

(A) L. D. White

(B) J. M. Pliffner

(C) John A. Vieg

(D) H. A. Simon

incorrectly matched ?
(A) Politics and Administration — 1900

(B) Principles of Public
Administration — 1928

(C) Papers on the Science
of Administration — 1937

(D) Introduction to the study
of Public Administration — 1926

. Which of the following statements are

correct regarding concept of
responsibility in public administration ?
1) ltis the obligation to carry out certain
duties.
2) Without authority, it is not possible to
take up responsibility.
3) Both operation responsibility and
ultimate responsibility can be
delegated.

4) Responsibility is political,
institutional and professional.
Select the correct code :
(A) 1,3and 4
(B) 1,2and 3
(C) 1,2and 4
(D) 1,2,3and 4
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7. The correct statements about the

relationship between supervision and
inspection are

1) Inspection is a part of the process of
supervision.

2) Supervision is a part of the process
of inspection.

3) Supervision is a more
comprehensive term than
inspection.

4) Inspection is post facto review,
while supervision is in operation
both before an action and after it.

5) Supervision is post facto review
while inspection is in operation
both before an action and after it.

Select the correct code.
(A) 1,3and 4

(B) 1and 4

(C) 2,3and5

(D) 3and 5

. Assertion (A) : The principle of unity of

command is more a theoretical

formulation than a practical one.

Reason (R) : In the modern complex

organisation, it is not possible to

receive both technical and general

orders from one single boss.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (R) is true but (A) is false

©

9.

10.

Total Number of Pages : 32

Match the List — | and List — Il and select
correct answer from the codes given

below :

List—1 List-1II
a) Coordination 1) Millet
b) Unity of command 2) Mooney
¢) Span of control 3) Urwick
d) Supervision 4) Fayol
Codes :

a b c d
(A) 4 2 1
B)2 4 3 1
(C) 3 1 2 4
(D) 1 4 2 3

Match the List — I and List — Il and select
the correct answer from the codes given

below :

List—1 List-II
a) Staff Agencies 1) Gulick
b) Supervision 2) Barnard
c) Authority 3) Mooney
d) Coordination 4) Millet

5) Fayol

Codes

a b c d
(A) 4 3 1
(B) 3 4 2 1
(C)5 3 4 1
(D) 4 1 5 2
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11. Match the List — | with List — Il and select
the correct answer by using the codes

12.

given below the lists :

List—1
a) Behavioural

Approach

b) Scientific
Management

c) Systems
Approach

d) Classical
Theory

Codes :
a
(A) 3
(B) 4
(C) 2
(D) 4

N AW AT

2)

3)

List-1I
Interaction
between
organisation
and environment
Formulation of
principles of
organisation
Shop floor
activities of
organisation
People in the

organisation

3

The findings of the Hawthorne

Experiments are discussed in

(A) Management and the work

(B) Management and the labour

(C) Management and the worker

(D) Management and the morale

K-2314

@

13.

14.

15.

Total Number of Pages : 32

Which of the following is not a
behavioural characteristic of
bureaucracy ?

(A) Impersonality
(B) Role-specificity
(C)
)

(D) Rule-orientation

Rationality

The experiments conducted by Taylor
were intended

(A) To understand the motivation of
workers

(B) To understand the process of
mental revolution

(C) Todiscover the best way to carry out
specific tasks

(D) Tounderstand the human behaviour
in the organisation

Which of the following statements are
correct about the concepts of system ?

1) Itis a unified whole having a number
of sub-systems.

2) The sub-systems are independent of
each other.

3) It has an identifiable boundary that
separates it from the environment.

4) It is in constant interaction with the
environment.

Answer in codes :
(A) 1,2,3and 4
(B) 2,3and 4

(C) 1,3and 4

(D) 1,2and 4
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Which of the following accepts are
associated with National Rural Health
Mission (NRHM).
Answer in codes.
[) Decentralised district and facility
based planning and implementation.

Il) Improving Public Health
Management System (Particularly
Reproductive Child Health)

lIl) Involvement of Civil Society (NGOs)
with health administration

IV) Strengthening the power of the
Deputy Commissioner and District
Health Officer over Health
Administration

Codes :

(A Il 1]
B) 1 1] 1%
C©) v I

(D) IV I [

Assertion (A) : Lord Rippon’s Resolution

of 1882 was hailed as the ‘Magna Carta’

of local government.

Reason (R) : Lord Rippon is regarded

as the ‘father of local self-government in

India’.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

©

18.

19.

20.

Total Number of Pages : 32

Assertion (A) : Robert Dahl suggested

for cross-cultural studies in public

administration.

Reason (R) : He believed that public

administration can escape the efforts of

‘national psychology’ and political,

social and cultural environment in

which it develops.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A)is true but (R) is false

(D) (A)is false but (R) is true

Which of the following Programme is not
matched correctly ?

(A) Community Development — 1952
(B) 20 Point Programme - 1975
(C) National Food for Work — 2007
(D) Jawahar Rozgar Yojana — 1989

Assertion (A) : Chester Barnard is
regarded as the father of the “Social
System School”.

Reason (R) : The behavioural approach

was initiated by him.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A)is false but (R) is true
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21. Match the List— | with List— Il and select | 23. Which of the following statements are
the answer from the codes given below : true about decision-making ?
List -1 List-1l 1) ltis an act of determining a course of

a) The underlying aim of 1) Barnard action.
communication is a _ -
meeting of minds on 2) ltis related to all the traditional
common issues management functions.

b) Communication is the 2) Pliffner 3) Itis synonymous with policy-making.
bIooq _Strea_m of an 4) ltis related to policy-making, but not
administrative

— synonymous.
organisation

c) A communication 3) Tead Answer in the codes :
that cannot be (A) 1and?2
understood can have

, (B) 1and 4
no authority

d) Communication is 4) Millet (C) 1,2and 4
the heart of (D) 1,2and 3
management

5) Simon 24. Arrange the following administrative
Codes : thinkers in the chronological order :
a b ¢ d 1) Chester Barnard
(A) 4 3 5 2
2) M. P. Follet
(B) 2 4 3 5
(D) 3 2 4 1 4) F. W. Riggs
22. The first administrative thinker to give a 5) Willoughby
meaningful analysis of decision making Answer in the codes :
process is
(A) 2,5,3,4,1
(A) H. Simon
(B) H. Fayol B) 251,34
(C) F. W. Taylor (C) 5,1,2,4,3
(D) C.I.Barnard (D) 5,2,1,3,4
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Which of the following pairs is not
correctly matched ?

(A) Dynamic — M. P. Follet
Administration
(B) Personality and  — Chris Argyris
Organisation
(C) Ecology of Public — F.W. Riggs
Administration
(D) Human side of the — Elton Mayo
Enterprise
Which of the following concepts are not
associated with Simon ?
1) Value and factual premises of
decision making.
2) ldea of satisficing.
3) Science of muddling through.
4) Methodology of logical positivism.
5) Politics — administration dichotomy.
Answer in the codes :
(A) 1,3and 5
(B) 3,4and 5
(C) 2,3and 4
(D) 3and 5
Which of the following pairs is correctly

matched ?

(A) Contingency model — Victor Vroom
of leadership
(B) Life cycle approach — Blake and

to leadership Mounton
(C) Path-Goal Theory — Martin Evans
of leadership and Robert
House
(D) Managerial Grid  — Hersey and
Blanchard

(13)

28.

29.

30.

Total Number of Pages : 32
Arrange Maslow’s Need Hierarchy in
descending order
1) Social
2) Self-actualisation
3) Physiological
4) Ego
5) Security
Answer in the codes :
(A) 3,5,1,4,2
(B) 3,5,1,2,4
(C) 2,4,1,3,5
(D) 2,4,1,5,3

Arrange the following theories of
motivation in a chronological order :

1) Expectancy Theory
2) ERG Theory
3) Theory X and Theory Y
4) Maturity-immaturity Theory
5) Equity Theory
Answer in the codes :
(A) 3,2,1,4,5
(B) 8,4,5,1,2
(C) 4,3,1,5,2
(D) 4,1,3,5,2

Assertion (A): The public administration
is subject to judicial control.

Reason (R) : Any illegal administrative
act can be challenged in the court of law.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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Assertion (A) : According to Riggs, a
prismatic society is characterised by a
high degree of heterogeneity.

Reason (R) : According to him, the fused
and the diffracted societies have relatively
high degree of realism.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Leadership is
indispensable for the successful
functioning of an organisation.

Reason (R) : It is the ultimate act which
brings to success all the potential that
is in an organisation and its people.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanations of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanations of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Herzberg’'s contribution
to work motivation is substantial.

Reason (R) : He advocated the concept

of job enlargement.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

(13)

Total Number of Pages : 32

34. Match the List — | with List — Il and select

the correct answer from the codes given
below :
List-1 List-1I
a) The processes of 1) Terry
decision are largerly
techniques for narrowing

choice

b) The optimum rational 2) Secklor-

choice between Hudson
alternative courses

of action
c) Selection of one 3) Barnard
behaviour alternative
from two or more

possible alternatives
d) Twelve factors or 4) Simon
bases of decision-
making
Answer in the codes :

a b c d

A4 3 2 1
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37. The Human Relations theory highlighted
the significance of human dimension of
true about concept of authority in Public the organisation by drawing attention to

1) The social factors of work situation.

2) The psychological factors of work

1) Itis the legitimate power of office situation.

3) The psychological and/or social
factors of work situation.

2) ltis the foundation of administration 4) The social and psychological factors
of work situation.

35. Which of the following statements are

Administration ?

holders.

in public life. Select correct code :
3) Authority and power are synonymous. (A) Only 1
- - L (B) 3and 4
4) ltis derived from law, organisational (C) Only 2
tradition and delegation. (D) Only 4
(A) 1and 4 38. The classical theorists attached more

importance to the

(A) Role of the people in the organisation
(C) 1,2and 4 (B) Structure of organisation

(C) Standardisation of work methods

(D) Role of management in achieving in
the organisational goals

(B) 1,3and 4

(D) 1,2,3and 4

36. The scientific management stressed
39. Which of the following statements are
upon correct about human relations theory of
organisations ?

1) Itchallenges the classical concept of
2) Specialisation economic man.
2) Itholds that every person is different.

3) It holds that every person works as a

1) Rationality

3) Technical competence

4) Predictability part of a work group.
4) It considered the human aspects of
Select the correct code : the organisation in addition to the

mechanical aspects.

(A) 1and2 Select the correct code :
(B) 1,2and 3 (A) 1,2and 3
(B) 1,2,3and 4
(C) 2,3and 4 (C) 1and 3
(D) 1,2,3and 4 (D) 1,2and 4
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40. Arrange the following experiments
conducted by Elton Mayo in the
chronological order :

1) Bank Wiring Experiment

2) Textile Mill Experiment

3) lllumination Experiment

4) Mass Interviewing Programme
Select the correct code :

(A) 2,1,3and 4

(B) 2,3,4and 1
(C) 1,2,3and 4
(D) 2,3,1and 4

41. Assertion (A) : Globalisation is

necessary evil but Indian democracy is
very viberant to contest global forces
and there by promoting inclusive growth.

Reason (R) : The delay in non-
implementation of many economic

reforms (Foreign Direct Investment in

retail, pension and others) and the
introduction of right based policies
(employment, food and education)
reflect this trend.

Codes :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R)
is not a correct explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
K-2314

42.

43.

Total Number of Pages : 32

Assertion (A) : Promotion has wider
implication than advancement.

Reason (R): Advancement involves only
an increase in pay.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Which of the following activities are
associated with Sarva Shiksha Abhiyan
(The Universalisation of Education).

Answer in codes.

I) Enrolment of and retention of
children.

[) Constitution of school education
Committee.

lll) Improvement in the attendance of
teachers by effective monitoring.

IV) Increasing role of the education

minister.
Codes :
(A) IV [ Il
B) v m I
() I \Y Il
(D) 1 [ I
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Which of the following pair is a local self

Government ?

(A) Bhruhat Bangalore Municipal
Corporation (BBMC) and
Bangalore Development Authority
(BDA)

(B) BBMC and Bangalore Metropolitan
Reasonal Development Authority
(BMRDA)

(C) BBMC and Bangalore Rural Zilla

Panchayat

(D) BBMC and Bangalore Water
Supply and Sewerage Board
(BWSSB)

Which of the following statements are

correct about Behavioural Approach ?

1) It seeks to understand organisational

behaviour.

2) It is an extended and systematised

version of human relations theory.
3) Itrejects principles of administration.

4) lts origin can be traced to Hawthorne

studies.
(A) 1and 3
(B) 1,2and 3
(C) 1,3and 4
(D) 1,2,3and 4

46.

47.

48.

Total Number of Pages : 32
Systems Approach is also known as
(A) Contingency Theory
(B) Integrated Theory
(C)
(D) Modern Theory

Ecological Theory

Assertion (A) : March and Simon have

described the classical theory as the

machine model theory.

Reason (R) : Classical theory

emphasises order, structure, rationality,

impersonality, efficiency and

specialisation.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

“The State shall take steps to organise
village Panchayats and endow them
with such powers as may be necessary
to enable them to function as units of
self-government.” This provision is
mentioned in

(A) Part| of the Constitution

(B) Part IV-A of the Constitution

C)

D)

(C) Partlll of the Constitution
(D) Part IV of the Cconstitution
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49. Which of the following are the features of

74" Amendment Act on municipalities ?

1) Reservation of seats for SCs and
STs in proportion of their population

(to the total population) in Municipal

Area.

2) Mandatory periodic elections every

5years.

3) The procedure for maintenance of
accounts and audit would be decided
by the State Governor.

4) Construction of Nagar Panchayats
for smaller urban area.

5) One-third of the seats shall be
reserved for women, excluding the
number of seats reserved for SC

and ST women.

(A) 1,2and 4
(B) 2,3and 5
(C) 3,4and 5

(D) 1and 2

K-2314

Total Number of Pages : 32

50. Match the List — | with List — Il and select
the correct answer from codes given

below :
List-1
(Committee)

a) G.V.K. Rao
Committee

b) Balwanthray
Mehta
Committee

c) L. M. Singhvi
Committee

d) Ashok Mehta

Committee
Codes

a b
(A) 4 3
(B) 4 3
(C) 3 4
(D) 3 4

- N DD = 0O

List—1I
(Setup On)

1) Panchayati Raj
Institutions

2) Revitalisation of
PRIs for
democracy and
development

3) Existing
administrative
arrangements
for Rural
Development
and Poverty
Alleviation
Programmes

4) Community
Development
Programme
and National
Extension
Service

5) Panchayati Raj
elections

Paper Il



51. 39ec3d ®,0300 ATFT 300, TO=SD
® % - )

1) FOLTRET QY 163 T w&ReHY,
ATIRRORED.

2) TOFRO0EIT LHVCTR0T
m@@’éﬁmo@a’a

3) [OWRTEF STEBT B0 FOTD BNe

4) m%@’@oﬁo TSR0 m@&n’mo&a&.

5) TeGRSE  263F¢ DO @R

m@@’ﬁﬁmo@é&.
BoeH[HNEE), RO VLT TeLIN

(A) 3,4 335
(B) 23035
(C) 13y 4
(D) 133y2

52. 2eEeTT T F0T BS00 3
DO AE.

(A) TR - DFeoles0n

(B) Bomcdz®oee® Rodnhd

(C) mRdeed SRFOT sTOZE B3,
(D) BB0THED SRFO TCIFFT)

53. RREVST) CCRFTT ejd%zméﬁzs ?
1) Bge3RINT BRI BT ATIHCD
STOS
2) BI3RYNS BoTRoD ST
3) BYIRINT LRFO STV
4) RIS TBFUAT SIS
(A) 13»8
(B) 2 Sng,
(C) 1,232 3
(D) 4 =»g

Paper il

Total Number of Pages : 32
54. 33 TYNT QTeoR,eTTD &,3,0500307,
FOOIFFOTED Ferdow BTG EReRR.
HogegneE) LuZoRD.

1) emdfaageﬁ, e:sdraerjs, éasa ,BB030=
QETO, FoF Q00T YV
TOTOTONLD | FONRD

) VT FREOF WOy WOTCWFVY,
RO =03,

) C3pemINYY | HROMONYY RIT
wéﬁra%%@% T MO TYPT RO
ORI Fe),2RTE FRRERRF

IV) ©tRE80 &08) F30 mowdcddd,

ROGOTTH
Rode3nsd
(A) 1,11, 11,1V B) 11,1111V, |
(C) IV, 1L, 1, 11l (D) I, 1V, 11, |
55. FINT O3 TeINYY, T INF T
BRRODY [BOODAT?
1)
2) doriote®
3) 333
4) O320.0%°..
5) T2
(A) 1,2 33 4 (B) 2,3 &3 5
(C) 1,2,3a% 5 (D) 1,233 5

56. 39N CXRRT> FOIRN BROVRLYD ?

(A) Ei!%dmw#df - &oemeT

(B) wqRR ees Jees® - FO°

(C) Gror aiTyow - ROIT A
oo
wa?sdrae@wz

(D) &° " 85%° Na F - Toer'R
SR

K-2314



51. The Central Council of local self-
Government

1) Was established under Article 163 of
the Constitution.

2) Was established by an act of
parliament.

3) Is an advisory body on municipal
administration.

4) Was established by an order of the
President.

5) Was established under Article 263
of the constitution.

Of the above, the incorrect statements are
(A) 3,4and 5

(B) 2and 5

(C) 1tand 4

(D) 1and 2

52. The Balwanthray Mehta Committee was
a committee on

(A) Democratic — decentralisation
(B) Panchayati Raj Institutions

(C) Administrative Arrangements for
Rural Development

(D) Community Development
Programme

53. District administration stands for

1) Law and order administration within
a district.

2) Revenue administration within a
district.

3) Development administration within a
district.

4) Public administration within a district.
(A) 1 only
(B) 2 only
(C) 1,2and 3
(D) 4 only

K-2314
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54. Arrange the following decentralisation
process in sequential order.

Answer in codes :

[) Better outcomes from the
employment, health, education,
drinking water and sanitation
programmes.

I) Selection of responsive and elected
leaders.

lII) Involvement of people in identifying
schemes/works and monitoring the
implementation through Gram
Sabha.

IV) Improvement in the attendance of
teachers and doctors.

Codes :
(A) LI 1, 1v (8) I, 1,1V, 1
(C) IV, IL L (D) LIV, 1,

55. In which of the following countries does

rank classifications prevail ?

1) France

2) England

3) Canada
4)
5) India
(A) 1,2and 4
(C) 1,2,3and 5

(B) 2,3and 5
(D) 1,2and 5

56. Which of the following is not correctly
matched ?

(A) New Depotism — Hewart
(B) Administrative State — Finer

(C) Rising Pyramid of — Parkinson
Bureaucrats
(D) How Britain is — Ramsey
Governed Muir
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58.

59.
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P.H. Appleby’s statement that “All
administration today is political since it
must be responsive to the public interest”,
challenges the principle of

(A) Impersonality

(B) Anonymity

(C) Integrity

(D) Neutrality

Which of the following statements are
correct with regard to the expenditure
charged upon the consolidated fund of
India ?
1) Itis subject to the vote of Parliament.
2) Itis subject to the discussion in
Parliament.
3) ltis subject to the vote of Lok Sabha
Only.
4) It is not subject to the discussion in
Parliament.

5) Itis not subject to the vote of

Parliament.
(A) 1and 2 (B) 2and 3
(C) 2and 5 (D) 1and 4

Which of the following statements are
correct ?

1) The parliament can increase a tax
2) The parliament cannot reduce a tax
3
4
5) The parliament can reduce a tax
(A) 1,3and 5 (B) 3,4and 5
(C) 2,3and 4 (D) 3and 4

The parliament can abolish a tax

Parliament cannot increase a tax

)
)
)
)

(@)

60.

61.

62.

63.

64.

Total Number of Pages : 32

The creator of zero-based budgeting was
(A) Peter A. Phyrr

(B) Jimmy Carter

(C) Guy Peters

(D) Hoover Commission

The vote on account is passed

(A) After the voting of demands

(B) Before the general discussion

(C)

(D) Either after the voting of the demands
or after the general discussion

After the general discussion

The first committee to recommend for the
establishment of an Ombudsman type of
institution in India was

(A) Gorwala Committee

(B) Santhanam Committee

(C) Kripalani Committee

(D) Administrative Reforms Commission

“Parliament is the Chief Citadel of
opposition to delegation of power, the
need for which is the worst short
coming of Indian Administration”.

This statement is made by

(A) Gorwala Report

(B) Appleby Report

(C) Gopalaswamy Ayyangar Report
(D) ARC Report

Which of the following is not correctly
matched ?

(A) Ombudsman — 1809

(B) Central Vigilance Commission — 1964
(C) Parliamentary Commissioner — 1969
(D) Lokayukta — 1971

Paper Il



65. W0 SR FoTIT0 BN TWRRT TR

66.

67.

68.

Paper il

0, LIrRoRT.
1) RoQtRE 6 3118 Sxxme
2) LT TOTR0LIBOI STITE
3) Beot (FeoQye0dd) T SCIRNT R
4) YRUE TFED SORATOD STTR
5) 200007 0T ROFOD AT
(A) 1,2 233 -
(B) 2,3 334
(C) 2,3a235
(D) 1,2,3,4 3535

TORERIB emc%dar{%f Q83 3

@& (3 3R a0).

(A) o Ressocd (a38)
(B) gmomwe &0

(C) =oFs a3

(D) Rozm®ms aenad

BPNT 3N rj)ﬁ %dmdr{%ﬁ elopLsiove)
(zfz%m@oda) RO 20T B3 0 ?

(A) ©02038 PTo v

(B) n® 238 vwess

(C) oow,ne 2008

(D) 5oRR0 &R :b;%%oﬁa 598

SN CIRYTZ) FOCIRN TeohRY ?
(A) BeRHTO - Teapn?,

(B) 30020, FoCDFTHF ~ BRFD

(C) Qgonecd 30320800 - Lioedos
(D) mecsd FUTTNE - OTS®

69.

70.

71.

Total Number of Pages : 32
Fe0T, TOTITTRE), %Ot AdOCI RO

(Rox) =SNG,
(A) &5
(B) 3008/ FTm008 20edR

(®)) R0 Y
(D)

FEND FROD GERETTOD P LOBNIY,
FIORFBITED Teed BT w0,
RogeSneE) LUZOR.

) FeTm TRURTTO

Il) GReOR SPYRRTS

) Greos e
IV) @eecs ﬁ)@%%@de‘é’ 5@6@%@%@&
ToFe3ned :
(A) IV, 1L 11, |
(C) 11,1V, 11

B) I, IV, 11
(D) IV, 1,11, Il

BE Rewd (A) : QROIN FTFTT QTO©
qje%'&@ed NeOSEOLIFROT FoCDFEO
2JRPOT w?ﬁmd g@dﬁmﬁd‘l
SRV TOLFRO FIODFWIFN
TITO0R) mc%mﬂmgd
2R (R) 1 2005 TEF030 v&@e 3N
ﬁo’@o’ﬁ FCFTEE éa’g{ MIBIN BRE, B,
DoTCSNLD
(A) (A) 32 (R) 252 0 32 (R),
(A) 03> BOCINT TTFBOIRNT
(B) (A) 222 (R) 28z 30 =33 (R), (A)cdd
ROCINT QWO 9
(C) (A) =0 &3S (R) 23,
(D) (A) 33 &3S (R) 70

K-2314



65.

66.

67.

68.

K-2314

The recommendations of Santhanam
Committee on prevention of corruption
includes

1) Amendment of Article 311 of the
constitution

2) Amendment of the Indian Penal
Code

3) Creation of Central Vigilance
Commission

4) Amendment of Defence of India Bill

5) Establishment of an Ombudsman
type of Institution

(A) 1,2and 3
(C) 2,3and 5

(B) 2,3and 4
(D) 1,2,3,4and 5

Department of public enterprises is under
(A) Ministry of Commerce

(B) Ministry of Industry

(C) Ministry of Finance

(D) Ministry of Communication

Which of the following is not a
department under the Ministry of Home
Affairs ?

(A) Department of Internal Security
(B) Department of House

(C) Department of States

(D) Department of Law and Order

Which of the following is not correctly
matched ?

(A) Deputy Commissioner — Hastings
(B) Chief Secretory — Curzon

(C) Divisional Commissioner — Bentinck
(D) Local Governments — Rippon

69.

70.

71.
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A Secretariat Organisation in the Central
Government is a

(A) Line agency
(B) Auxiliary agency

(©)

(D) Staff and Line Agency

Staff Agency

Arrange the following elements of
agricultural policy in sequential order :

Answer in codes.
[) Policy Formulation

I) Policy Evaluation

[Ill) Policy implementation
IV) Policy Monitoring
Codes :
(A) IV, 1,001
©) LuLIv,

B) I, IV, 1, 1I
(D) IV, I, 1, I

Assertion (A) : The Secretariat enables

the secretary to examine objectively the

proposals emanating from the executive

agencies keeping in view broader point

of view of the Government as a whole.

Reason (R) : The Secretary is the

secretary to the Government as a

whole, not to his Minister alone.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true
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Assertion (A) : Welfare gains and
efficiency are higher in decentralised
than centralised governance.

Reason (R) : Relevant schemes, right
priorities by matching local resources,
needs and preferences of the people
are possible in decentralised
governance.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A)istrue, but (R) is false

(D) (A)is false, but (R) is true

Which of the following techniques/
methods for collecting the data in
Social Science Research ?

Answer in codes :
[) Participant observation method
Il) Interview method

lIl) Questionnaire method

IV) Case study method

Codes :

(A) IV, LI

(B) L1,

(©) 1LV

(D) 1, 1V, |

74.

75.
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Assertion (A) : State Civil Society
(NGOs) partnership in education,
health and social/welfare sector can
find solutions to the problems faced by
the society in the context of
globalisation.
Reason (R) : The increasing
involvement of civil society (NGOs) in
educational, health and social sector
reflects this trend (for instance, the
involvement of WIPRO, BILL GATES
and ISKON can be mentioned).
Codes :
(A) Both (A) and (R) are true and (R) is

the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is

not a correct explanation of (A)
(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

Assertion (A) : Extra ordinary leave
(leave without pay) is granted when no
other leave is admissible.

Reason (R) : It can be granted for more

than five years in case of payment

officials.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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